PHY| 20t3 — Soluhins —
Tesf T— 1 dine 20/0 V.ET
@%&) Ha"ﬂ\f &(Al e = h= L0
"Bl L=50 w, O=¢s° = h= 35¢wm
.Em‘x,ﬁ%g_mm\/ *E_Azgﬂti’ /hn/ ?-mg[.
V= ﬁ 8.22 mls
¢ (® B0 = Wi = Eg= o V™ >|We, = 1390 J
/TF,(—WL/J “SN‘{;JYCJ 2.0y '
ol s Mo = 3% N fr M= do.o k
- = !Eé.E_sé = 0 25
@ﬂ;%= /20.0 wals aud €6 = 369"
|| Vo = Vo Cos@ = 760 mls | Uoy= U smEo = 72.0 el
| AF halot i, oo = = 7)«— -'l/oy
= o .
s B A= Untas > b= 3/ = 8.86 sec] fr X=850mfs
;/I &) Yy = (/a’\,,—ngal}- =7’I4.8 m/s and Vo= Vox = %'?_ m{ '
>fu.=( Ux%—l/f)/”: Gl
ond o B = L /Yy o Slldi=87°
*@) H = Uy fn; = /2 afm o | H = 2594 1
' /4/‘/%’%0\/’\\/937’ H-’ x%@-—@x”/zvax . .







PHY zo¢8 . — Sons, p2—
TesH|T — 1 June 2o0¢6 V. T
@%@ Qs -2 and (/"‘ o of He A«ld[mn/ PomﬁL v
/r>~z%ln=—(/4:”-_> A-—U'/za-zwm div =20
Akoi 0 = V;_dq{%g ‘éuf = l/a/ff.‘_.' 245 5
/\ﬁ_w @urwy dea%)ﬁ ([o=0O znd Afﬁ = <=h
i > "‘A:VZQ%/ = 0= -*Zrézl'ééﬁm o | -
%ﬁ,ﬁg = 150 sec > {({w,i fmﬁ,bt’r: S:05 S | A= —2.30 m/s™ |
4 IU';= oty = = /.6 il | .
> . =
Gl | & e
‘ < o 5 - & ;L)_ i
%
‘ i/-%,.ﬁ v %5 W F_-rs
U (V)
blOQlC A loLoclc ‘?>
"i e 2 F:-rz F"}% = Y)C\&Qh : ;
and b= B ooy = F@A’Q&Q e
m, = 25 13 DIFp= 245 v, Fra= 306 Fy = /3% 0/
oD blo A S [F. =F, = /34N
7
( SF‘;_":SW'-'-‘U;FA} ond B, =mpo = lc= F /mo
X / d / T

/

Us = ©O./25







